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2018528 tHMELR (BRAME- Bz #£1E5)
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SKERRIE AR
=] ZE =k PIIRA UESE E5:1] & SYETEE- TOAt £ERE
B k=3 = k=4 C2 k=3 5 k=g 5 kg 5 £ =4 5 =4 5 T Bt
A BWRE-HEES 1 1 1
B RSINT%
C fig
D 5555t S
E St 2 1 2 1 3
F IRF—-KiE%
G BIE -8 1T 1 1 1 1 2
H 3E% 1 1 1
I [EE -2 1 1 1
J EN-NGE-BRBSE 3 2 1 2 6 2 6 10 16
K Tmeshe-U—-2%
L SR-RIR-TEIERE| 2 2 2
M BEFE-E-ERRE| 3 5 3 3 8 11
N E)LEE. Blmi 2 4 1 1 1 6 3 9
O HfEhmigse 2 2
P BE ¥
Q BEtTH-EEBIH
R ZOfti—E % 2 1 1 1 3 2 5
S NI NHY-LR 2 2 2
T D%REE-2ofth 1 1 1
Rt 14 9 5 4 1 13 3 1 2 2 25 31 56
TEERFER 22 14 5 5 2 16 4 1 3 2 35 43 78
— AR (B4EE) | 1.57 | 1.56 | 1.00 | 1.25] 2.00 | 1.23| 1.33 | 1.00 1.50 2.00( 1.00 1.40| 1.39| 1.39
— ASRHB(BLET) 1.57 1.11 1.29 1.25 1.50 2.00 1.00 1.39




